CSE 373 Midterm 2 2/27/06

Name

Do not write your id number or any other confidential information on this page.

There are 8 questions worth a total of 60 points. Please budget your time so you get to all
of the questions, particularly some of the later ones that are worth more points than some
of the earlier ones. Keep your answers brief and to the point.

The exam is closed book. No calculators, laptops, cell phones, paging devices, PDAsS,
iPods, BlackBerrrys, time-travel machines, or other devices are allowed (or needed).

Please wait to turn the page until everyone is told to begin.
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/60

Score

1. /6
2. I3
3. /6
4. |6
5. /6
6. /12
7. ]12
8 /9
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Question 1. (6 points) (a) What is the load factor of a hash table? (Give a definition.)

(b) What is a reasonable value for the load factor of a hash table if the operations on the
table are to be efficient (i.e., O(1) instead of something significantly slower)?

(c) What needs to be true about a hash function if operations using that function to locate
items in a hash table are to be efficient?

Question 2. (3 points) You have been asked to design a hash function for a set data
structure (an unordered collection with no duplicates). There are two possibilities. One
would be to calculate a “polynomial” using the hashcodes of the elements of the set, i.e.,
if the set elements are s1, s2, ..., sn, then use (...((s1.hashCode () * 37 +
s2.hashCode ()) * 37 + ...) * 37 + sn.hashCode (). The other possibility is to just
add up the individual hashcodes without any additional calculations, i.e.,

s1l.hashCode () + s2.hashCode () + ... + sn.hashCode (). Which of these
functions would be the right hashcode to use for a set, or would either one be equally
good? Give a brief reason for your answer.
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Question 3. (6 points) Suppose that we have the following class containing a few
instance variables and an equals method.

public class Thing {
private Gizmo g;
private int number;
private Thing nextThing;
private Blob b;
private Whazzit w;

/** return true if this Thing equals other */
public boolean equals (Object other)

if (!other instanceof Thing) {

} return false;

Thing t = (Thing) other;

return this.g.equals(t.g) && this.b.equals(t.Db)
&& this.w.equals(t.w);
}

}

Complete the definition of a suitable hashcode () method for class Thing, below. For
full credit, your hashcCode () function should compute a high-quality hash code, but
should also be consistent with the equals () method defined above for class Thing.

/** return a suitable hash code for Thing objects */
public int hashCode () {
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Question 4. (6 points) Consider the following AVL tree
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Now suppose we insert a new node containing 4 into this tree.

(@) (1 point) Show where a new node containing 4 would be inserted in the above tree
before any rotations are done to rebalance the tree. (Just draw it in the correct place in
the above diagram.)

(b) (5 points) Assuming that the tree that results from adding a node containing 4 in part
(a) is out of balance, show the results of the rotations that would be performed to restore
the AVL property. If more than one rotation step is needed, draw diagrams that show the
successive results of the rotations performed. (i.e., show your work)
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Question 5. (6 points) Consider the following splay tree.

S

Show the tree that results if we search for 60 in this tree and perform the splay operations
that are implied by that search. If more than one splay operation is required, please draw
a sequence of diagrams showing each of the splay operations (this will help you organize
your answer, and will help the grader figure out what happened if something isn’t quite
right.)

&
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The next questions concern binary search trees whose nodes are defined as follows.

class BSTNode {
public Comparable item;
public BSTNode left;
public BSTNode right;
public BSTNode parent;

item referred to by this node

left subtree; null if none

right subtree; null if none

this node’s parent; null if
none (i.e., null if this is
the root node)

NN
N N N

}

In this representation, each node contains a reference to its parent in the tree, if there is
one, in addition to its left and right subtrees.

Question 6. (12 points) Complete the definition of the following Java method so that,
given a reference to some node in a binary search tree (implemented with the above node
data structure) the method returns a reference to the node that precedes it in an in-order
traversal of the tree. The result should be nul1 if there is no node preceding p.

/* Given a non-null reference p to some node in a binary
* gearch tree, return a reference to the node that PRECEEDES
* p in an in-order traversal of the binary search tree.
* Return null if p has no predecessor node. */

public BSTNode previousNode (BSTNode p)
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Question 7. (12 points) When a node is inserted in a red-black tree it is initially colored
red. Ifitis inserted as the child of another red node, a rotation must be performed to
restructure the tree to preserve the red-black property. One of the possible rotations is
described by the following diagrams, where x is the new node, p is initially its parent,
and g is initially its grandparent.

Before After

© ©
TN /

A 7 Mo
SRVA

Assuming that variable x is initialized to point to the node labeled x in the left diagram
above, write a sequence of assignment statements to perform this rotation. You do not
need to write a complete method, and you do not need to worry about keeping track of
the colors of the nodes. Just write a sequence of statements to change the pointers in the
various nodes to restructure the nodes as shown in the diagram. You should assume that
the nodes are instances of the BTNode class (data structure) defined on the previous page,
with links parent, left, and right referring to adjacent nodes in the tree.

BSTNode x; // initialized to point to node ‘x’

// write your answer below
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Question 8. (9 points) We’ve now seen many possible ways to implement collections of
data. For each of the following applications, explain which data structure from the given
list you would choose and give your reasons for doing so. There may not be a single
“right” answer to some of the questions. Your choices will be evaluated on whether they
are appropriate for the given application and the quality of the (brief) reason(s) that you
give in support of your choice.

Choose from the following list of data structures:

e Array-based list e AVL tree
e Linked list e Splay tree
e Binary tree, not a binary search tree e Hash table
e Unbalanced binary search tree

(@) List of names of all UW students. Lookup operations tend to be random and are
much more frequent than additions and deletions. Additions often arrive in large batches
and are initially in alphabetical order. The application also needs to be able to list
alphabetically all names in the directory starting at a particular name and ending at
another name, e.g., list all names from Jones to Ngyuen, inclusive.

(b) List of book titles sold by Amazon. There are hundreds of thousands of titles in the
list, and access to any title needs to be relatively fast, but almost all accesses (greater than
99.5%) refer to a few dozen best sellers.

(c) Parts inventory in an automobile supply shop. There are hundreds of thousands of
different parts in the inventory and, given a part number, information about the part with
that number needs to be accessed quickly.

Page 9 of 9



